EARAROBEEIERT — 2 N— IBISH —F

201554 H308 (K) 2EI%5#A5H

moo CE (h&RZTm Y I7R3IK \ (X % \ (Ersh]  — | & () 14000 B
[A&4£] 1% :370,000 ™ ~ 23#%:93,000 ™  33%&:37,000 M 437 :23,000MH .~ 57&:15,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N — & E R :28. ~3-2- . — ERF— (i)
i Ny 3 e 1(2_8)2 3-32-2 | 37.3 1 (4_811) o=
RILINA T A—h— B2AI/TITNSS HRSUHB A/ 77— L4
3 S i 3 | EHEE 1:29.2 4-4-4-3 |38.0| — 6 455 | EEIEEG (HR)
7 3 KRR 54.0 ®) 7)) | A
RZRBF2—FTIUNTF1 B:XA42adTuil AE K
SRS i3 | AEHE 1:29.4 1-1-1-1 | 38.7| — 5 455 | SEEBE (1)
3|5|5|F~ANF 54.0 (1172) ay | PSS
LI YT BIVEL LY — o% 1§
N N TEAE= . 76— — REEE— (5HR)
al1]q [ v=nys 1z 4 3 A 1.(330).0 7-7-6-7 | 38.4 3 (4_2‘3 s A
L BATATv— B/ —TT17— BINET 7 — L
X 3 | 1EBERRI 1:30.1 ~5-4- . — 2 429 | BEERIME (hR)
2 2 AR ¢ 540 ) T e (_12) 5T ()
LT RIA Y L—> BEYU-—E—> E2[zLes
SAELY % 4 3 | FEEREH 1:30.2 8-8-8-8 [38.3| — 4 438 | HHEK (FR)
67| 7|¥7NMIAY 56.0 (172 o) |EEE
L:ZFAT=IK B98I 14 9 F ¥ vie ]
\ I i 3 | EE® 1:30.4 6-6-7-6 |38.7| — 7 505 | EEHEHZ ()
7 4 1IV/)TLI+RX 56.0 (11/2) (-9) BT R
LHIITTLIFL N BT ANIY—Y WA
S s 3 | RINARI 1:30.6 2-2-3-3 | 39.7| — 8 415 | REER (5H)
slglg| ¥ 1>V 54.0 () (o) |BINEX
R:VvAT7>hyh— B:xbOKRKYEZS pusg ¢
? . # 3 | KIEHE 1:32.0 10-10-10-9 | 39.1 | — 9 47 | $BREX (BHE)
9|8|10| 7RAFTL 54.0 M wa) | ) X%
R:Ayav4ny A IS HUY— HEE f5—
2 . it 3 | BATRA 1:32.2 9-9-9-10 |39.3| — 10 | 407 | R (5242)
10/7] 8| ¥VFEI1A=X 54.0 (11/2) s | (B J P NEH
R:2a—Ysa—X BTLEIETL R e
® 1—F—@EBIERL
1T=7r= 5,9,6,3,2,4,1,7,8,10
23— — 5,9,6,3,2,4,1,7,8,10
Ja=5= 5,6,9,(2,3),1,4,7,8,10
43—+ — 5,6,(3,9),2,4,1,7,10,8
[ N5
B 6 1004 714K 3-6 230M e E 3-6 480 JEE 3-5-6 3,490/
B B 6 1004 5-6 300M B = 3-6 620M EE 6-3-5 8,590
3 210M 3-5 3,070 B H 6-3 710M
5 1809

ABICOVWTRDTEEERROODE. TR LIV,




